Centrifugal Pump Submittal Data

FWO0547 1220
Supersedes 0319

Job or Customer

Engineer

Contractor

Submitted by Date
Approved by Date

Specification Reference

Quote Date Quote Number W

MADE IN THE USA
usin AmAsonmv o uS.contnr - SPJ SERIES

Model System Discharge Flow System Inlet
Number Pressure (PSI) (GPM) Pressure (PSI)

SPECIFICATIONS

Service Factor Motor Amps
Motor Voltage | gingle Phase | Three Phase Max
Type (Factory) Suction
Connected | 115y | 230v m 460V Lift
3/4 115V 14.0 7.0
1 ) 18.0 9.0
Single 115/230
1-1/2 Ph 60 3450 21.0 105 - - 180°F 25 Ft.
230V
2 25.0 125
3 230 - 13.5
3/4 35 1.75
1 45 2.25
1-1/2 | Three Ph | 208-230/460 | 60/50 | 3450/2850 230V - - 5.7 2.85 180°F 25 Ft.
2 74 370
3 9.8 4.90

Suction lift varies, depending upon elevation (altitude) and water temperatures.

e

FLINT & WALLING

Flint & Walling, Inc. ® 95 N Oak St. ® Kendallville, IN 46755 ¢ 800-345-9422 ® www.FlintandWalling.com
© Flint & Walling. All rights reserved. 1



Centrifugal Pump Submittal Data

PERFORMANCE CHART
Model Number Suction Qicchunyeiessurcks) ShutOif Suction | Disch
e (0 T T &0 [ 2 [ 3 [ 3 ] @ [ 8 | pressure | | oot
| 1Phase | 3Phase | S. PSI
3/4 2"

5 41

SPJO7P1 SPJO7P3 15 37 1-1/2"
% 3
5 48

SPJ10P1 SPJ10P3 1 15 43 2" 1-1/2"
% 39
5 I

ggj}gg} SPJISB3 | 1-172 15 M 2 112"
% 3
5 50

SPJ20BT | SPJ20B3 2 15 15 2 1112
% 40
5 54

SPJ30BT | SPJ3OB3*™* | 3 15 50 2 112"
% 15

Motor voltage: Single Phase 3/4 - 2 HP - 115/230V; 3 HP - 230V, 60Hz
Three Phase 3/4 - 2 HP - 208 - 230/460V, 50/60Hz; 3 HP - 208 - 230/460V; 60Hz
Maximum Case Pressure: 100 PSI

**Less than 50% US content

PERFORMANCE CURVES

2 6 8 10 12 14 16 18 20 m3/h
PSI |Feet . . . . . . . . . Meters
56 | 130
51|120—

\\ \\
47| 110 = —T~ ~—
43 {100 14 HP S 2HP I 30
38| 90 T UL N\ 3HP
~~ NS NS \

-8 34| 80 \\ \\\\\ \\

T 30| 70 \\~ NN \\

— 20

T 25| 60 \\\ \\ \ \

R 21| 50 \ \ A1\

\ 1
12| 30 N\ \ \ 10
1-1/2 HP
2| 20 N\ N
4| 10 N
o' o0
0 10 20 30 40 50 60 70 80 90 GPM
Capacity IL0582

e

FLINT & WALLING

Flint & Walling, Inc. ® 95 N Oak St. ® Kendallville, IN 46755 ¢ 800-345-9422 ® www.FlintandWalling.com
© Flint & Walling. All rights reserved. 2



Centrifugal Pump Submittal Data

PUMP DIMENSIONS 60 HZ

-
FF’

|
I —
T
L — |5
.—4 E
H ~ D
[ —
: :
F A +’<7 C —
Dimensions (In Inches)
lafBlclDp |l EJF]GIH]J | W
34 | 41/2 | 512 | 7-7/8 | 9-3/4 | 11-1/8 | 3-1/2 | 8-3/4 | 8-3/4 | 16-1/12 62
1 | 42 | 572 | 7-7/8 | 9-3/4 | 11-1/8 | 3-1/2 | 8-3/4 | 8-3/4 17 68-3/4
1172 | 4172 | 5-1/2 | 7-7/8 | 9-3/4 | 11-1/8 | 3-1/2 | 8-3/4 | 8-3/4 | 17-5/8 74-112
2 | 412 | 512 | 7-1/8 | 93/4 | 11-1/8 | 3-1/2 | 8-3/4 | 8-3/4 | 18-1/8 78
3 | 412|512 | 7-7/8 | 9-3/4 | 11-1/8 | 3-1/2 | 8-3/4 | 8-3/4 | 18-1/8 78-3/4
PUMP DATA
FlOW Range. . . oo e e e 1.5 to 88 GPM
Pressure BoOst Range . . . . ... o e s 33 - 55 PSI
Liquid Temperature -- Brass Impellers. . . ... .. e e e e e 34° F to 200° F
Liquid Temperature -- Plastic Impellers . . ... ... e e e e e 34°Fto 160" F
Maximum Case PreSSUIE . .. ..ottt e e et et e e e e e e e e e e 100 PSI
@
AGENCY APPIOVaAlS . . . oot e e e e us
DULY Gy Cl . oot e e Continuous
PUMPING MediUum .. e e Clear Water

Service/Repair Information. .. ... ... e Pump and Motor Field Serviceable

MOTOR DATA

Locked-Rotor Single Phase
Torque before Overload Torque Power Torque Power
29 15 | 65 C/149°F 70° C/158° F 42 21 16 65°C 49 23 17
1 48 14 | 65 CM49°F 66° C/151° F 52 25 19 | 14 | 65C 74 35 26
15 59 13 | 65°C/H49°F 66° C/151°F 76 38 28 | 13 | 65°C 90 43 32
2 63 125 | 65°C/149°F 66° C/151° F 80 40 30 | 125 | 65°C 112 5.3 40
3 65 10 | 65 CA49°F 66° C/151°F 95 45 34 | 10 | 65°C 125 5.9 44

e

FLINT & WALLING

Flint & Walling, Inc. ® 95 N Oak St. ® Kendallville, IN 46755 ¢ 800-345-9422 ® www.FlintandWalling.com

© Flint & Walling. All rights reserved.



Centrifugal Pump Submittal Data

STRUCTION MATERIALS - PUMP AN

L0174
ITEM NO. DESCRIPTION MATERIALS
1 Motor, NEMA J - 1 PH -- Shell Zinc-Clad Steel
1 Motor, NEMA J - 3 PH -- Shell Zinc-Clad Steel
Motor Access Cover Valox
2 Mounting Ring Cast Iron
3 Hex Hd. Cap Screws 3/8 x 3/4” Plated Steel
4 Ring, Square Cut Buna Rubber
5 Seal, Rotary w/Spring Carbon/silicon carbide
Impeller, Plastic “P” Models Noryl
6 Impeller, Brass “B” Models Brass
7 Diffuser w/Insert Aqualoy 45
8 Hex Hd. Cap Screws 1/4x 1" Plated Steel
9 Rubber Diffuser Buna Rubber
10 Pump Body Cast Iron
n Hex Hd. Cap Screws 7/16 x 1" Plated Steel
12 Base Formed Steel
13 Hex Hd. Cap Screws 3/8 x 1/2" Plated Steel

e

FLINT & WALLING

Flint & Walling, Inc. ® 95 N Oak St. ® Kendallville, IN 46755 ¢ 800-345-9422 ® www.FlintandWalling.com

© Flint & Walling. All rights reserved.



